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M- BF - SA(3) - MRAY - BES Ofl &4 I3 A Husz
g2 2,603,916 2,645,685 N41,769
THEHER 786,535 800,899 A14,364
TolsE el 395,267 398,888 3,621
THELZXZ 39,267 398,888 3,621
202 04t 1,800 3,600 A1,800
01 2oL 1,800 3,600 A 1,800
Og2Nz+HLHADISEY
10,0002 +3Z+52 *12& 1,800 3,600 1,800
401 AIEHIZL 20| 16,525 18,000 NA1,475
01 Al&€HI 16,525 18,000 A 1,475
OZABEDVIEXI K WA 16,525 18,000 N 1,475
405 KHaHF S| 5,654 6,000 N346
01 MM =S FSHI 5,64 6,000 N346
OFEEE MM ZEE It 7 5,64 6,000 N346
2& Ot =4 391,268 402,011 ~10,743
k= gl 269,810 259,153 10,657
201 Let2a| 236,930 226,273 10,657
01 AlR2telHl 234,992 223,335 11,657
OREAAIX L3 159,362 178,500 A19,138
—'EF010P]' 2H ALK & 130,878 149,000 A18,122
—'E010P' FEAAX BE 9,984 10,000 A6
—'&70I01" HA FEAAX & 17,000 18,000 A1,000
OREAAIX i
502 %102,650F* 1200 & 61,590 30,795 30,79%
2 s3=234l 1,938 2,938 A 1,000
OFEAAN &8 282 1,938 2,938 A 1,000
=OICIHE 288t 8223 111,978 129,778 217,800
201 Zet=Ehl 91,878 97,878 6,000
01 AlR2telHl 90,918 %,918 6,000
OTdes I4 M 44,000 50,000 6,000
—ZHELE 1H 27,000 30,000 3,000
—CAIEE 13 17,000 20,000 3,000
301 LetE2NS 15,300 27,100 A11,800
B2 d= 15,300 27,100 A11,800
OonNseg ZH= 0243 4,000 6,000 2,000
g7 S2EUA 23| 0 9,000 9,000
OTZER 2= M& & 0L 2&= 3,300 4,100 800
—S¢('8 F Ee/8' OolLEAM) 1,800 2,600 800
FUHNH 24 9,480 13,080 23,600
301 LetE2NS 8,480 12,080 3,600
B2 d= 8,400 12,000 3,600




A EEA
3 IFEEELE
cel: 2E 0ICIHER =& (SH9 H2)
SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hwsz2
OJIXE 8s24=3
100,000 7 H*12I4 2 8,400 12,000 A3,600
& FESH AIAH 22 1,782,947 1,805,352 N22,405
& HES JIgt7E L HEAAH 2 1,367,878 1,379,283 11,405
78 I 2L A2 825,561 827,561 22,000
401 A2 HIL S0 0 2,000 A2,000
01 A& 0 2,000 A2,000
OsdE=ENEH == UWERKI3HE nHS
Ab 0 2,000 A2,000
HRZETHAIAE 29 31,981 39,866 AT7,885
201 2| 21,981 29,866 AT7,885
02 Z324l 21,981 29,866 AT7,885
O2LIetAIAE S22 15,808 21,440 A5,632
— AN SXE2=4| 4,420 5,950 A1,530
—MHARX FXE=H| 584 770 A186
—CIOIEHIOI A (oracle) SAIE==HI 6,000 8,000 A2,000
—WASEZ 8 SXI2ZH| 924 1,320 A3%6
—°“t’°+( ) RSt 1,050 1,500 2450
—2AM&elE(Acube) SXIZ=HI 1,330 1,900 A570
—IHRIEEES LIE SmartFilter RXIE==HI 1,500 2,000 A500
OAECIXI(EMC WX7500) X 24=] 3,484 4,690 1,206
SHAAH| FAIE=H] 2,689 3,73%6 A1,047
—BHA A XI(LTOB) HW SXIE == 983 1,330 A342
—BHATXI(LTOB) SN RXIE = 1,400 2,000 2600
— AN A2 301 406 A105
HZ3 X4 & 33,180 34,700 A1,520
201 2| 10,080 11,600 A1,520
01 ArR22eltl 10,080 11,600 A1,520
oaiolgo1erd Xotets 22| 3,880 5,400 A1,520
HEEA AIAE 22 415,069 426,069 211,000
FESAL2L 352,664 355,664 A3,000
301 LEIE2EF 12,360 15,360 A3,000
14 JIEt2 43 12,360 15,360 23,000
ONU3Z ADIEE A84% 2AY 12,360 15,360 23,000
SAAIE Ul A2 62,405 70,405 28,000
201 2Et2 & 22,405 30,405 28,000
02 Z324Hl 16,485 24,485 /8,000
OAIEEHIR X 16,485 24,485 28,000
—Poed! B (C3300-48TS) RXIZ= 0 3,000 A3,000
—St0IE ¥ ERJ| |RAZ 1,000 6,000 25,000
HY2IHH(ERY) 34,434 39,434 25,000
Jl=Zhl 34,434 39,434 25,000




FAN 224
. dY2I3H(224)
=l Jl=3H| (Gt H2)
SA - BB - SRA(3) - MRAY - BES 0l Ao ol E o timE=FT
Jl23tl 34,434 39,434 5,000
202 0| 16,600 21,600 5,000
01 2oL 16,600 21,600 5,000
OJlzge+d sZodI(oaE) 16,600 21,600 5,000




